PRACOVNÍ LIST
Násobení a dělení celých čísel
9 . (-6) =				-8 . (-3) =
-7 . 6 =				(-7) . (-9) =
12 . (-4) =				6 . (-13) =
-60 . (-30 ) =				-15 . 4 =
(-7) . (-80) =				800 . (-4) =

36 : (-6) =				74 : (-2) =
(-45) : (-3) =				100 : (-4) =
1 600 : (-40) =			-490 : 7 =
-56 : (-4) =				54 : (-3) =
-85 : (-5) =				2 000 : (-50) =

5 . (-10) . (-4) . (-1) . 3 =
-2 . (-3) . 10 . (-4) . (-5) =
4 . (-1) . (-2) . (-10) . (-20) =
6 . (-3) + 8 . (-4) =
12 – 7 . (-6) =
10 – (-9) . 3 – 30 =
3 . (-6 - 8) + 4 . (6 – 10) =
(-56) : 7 + 32 : (-4) =
13 – 36 : (-6) – 42 =
[bookmark: _GoBack]19 . (-15) + 19 . 5 =
(-23) . 36 + (-23) . 94 =
35 . (-48) + 35 . 28 =
